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Supplementary Figure 2

(=2

0.057 - *%k
0 A
° [ |
S30.04- = %
+
<
0 0.031 %

o
(=
[ |
£ 0.024 - 4
2 ®
5 0.014 %
2 ®
0 - T . T
Vehicle Cortisol Dex
g 8 0-
g *%*
o
£6.0 ® %
= |
o
3
04.04
m
c
£
5207 e
=
‘s e
X0 -
Vehicle Flonase
£ 0.157
2
o
£ m
50,10 =
3 =
o
-
5 0.05
go.
E s
o
[5)
X
Vehicle Flonase
i w1200
© *
+£10007
<
[2ed
8 8001
)
E 600
3] J
& 400
n
S 200 E
o
z T
Vehicle = Flonase
j Vehicle Flonase

00

-05

Log fraction nonresponding

0 2000

T
4000

6000 8000 10000

Dose (number of cells)



